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	This paper does not consider mankind's current limitations, but focuses on understanding the problem and effectively solving it at its weakest point with a solution mankind can accomplish over time.  Although the problem is of global proportions, it is a matter of accepting that by utilizing specific strategies this becomes the easiest solution to implement.  As of June 25th, 2015, and an unknown amount of time into the future; the widely accepted understanding of global warming is that industrialization is the biggest cause through pollution of the atmosphere, following with deforestation as the next biggest cause.  Labeling industrialization and deforestation as causes is incorrect due to the fact they do not cause any significant degree of warming to the troposphere.  The appropriate labeling is that industrialization and deforestation are accelerators to global warming. 
	The proper way of assessing global warming in a simplified manner is by starting with the sun as the cause.  The energy released by the sun travels to Earth's atmosphere where chemical reactions occur, and then to the surface where physical reactions occur that have been labeled climate change.  The Last Glacial Maximum is when the glaciers were at their closest point to the equator from the last Ice Age.  (Chapront)  These glaciers receeded prior to the existance of industrialization, and demonstrates how if we eliminate industrialization; global warming will still exist.  The possibility of eliminating industrialization and covering the world with trees will possibly make changes to our atmosphere to delay global warming, but never eliminate it.  This is because the sun rises in temperature over time, and will eventually scorch Earth in the far distant future when it becomes a red sun that will become larger in size.  
	The proposed solution I developed and declare as being the strategy that our race succeeds at involves gaining mobility of the moon to block the sun because the sun is the primary cause, and the moon is near the exact size required for sufficient global cooling.  Although today this seems impossible to be successful at, it does not change the fact that among the known solutions for fixing global warming; this strategy is the only one that fixes the problem entirely for a significantly large amount of time, and without negatively affecting the environment.  Most importantly, it does not require every person in the world's population to combine their efforts in order to make the change happen.  A type of strategy that kind of effort includes eliminating all emmissions through ending industrialization; which would have a huge impact on societies around the world, while only mitigating the problem of global warming.  
	Gaining mobility of the moon requires the use of propulsion devices, possibly the same technology that was recently invented to function without the need of fuel.  The strategy of making this plan work is by investing everything into research and development for more powerful propulsion devices until signs of mass extinction present themselves.  Then mass production of the most suitable propulsion devices should begin, followed by equipping the moon with them.  The propulsion devices can either be connected on Earth and flown straight to their proper location on the moon if the technology can be designed that way, or they will need to be transported and equipped to the moon by human installation or robotic installation.  If the surface area of the moon is 7.4% of Earth's surface area, the circular area to fill with propulsion devices should be about an eighth of that number; which is 0.925% of Earth's surface area for each one of the six main locations on the moon to receive propulsion devices that are equidistance from each other.  Keep in mind the location size may not need to be that big for this to work.   
	The best strategy is to propel the moon away from Earth during a solar eclipse because that is when the sun's gravitational force on the moon is the greatest at about 44% that of the moon's gravitational force on Earth.  (Nave)  By combining that force with the fact that during the solar eclipse there is an increased momentum of the moon moving towards the sun that is potentially greater than 1.5 inches a year, resulting in a required force that is less than 56% of the required force to move the moon when it is on the dark side of Earth.  Considering the same side of the moon is always towards Earth, it is possible to mount propulsion devices to apply continuous force in the direction with the greatest momentum caused by the moon's orbital speed; therefore increasing the centrifical force to move the moon away from Earth.  If the moon is relocated closer to the sun, and farther from Earth; Earth will have a weaker gravitational force, and the moon will begin to orbit the sun next to Earth.  This will probably require applied force over time to gradually move the moon farther out of orbit, and the farther out of orbit it moves, the easier it will be to move.  There is a location between the Earth and the Sun, where the total gravitational force affecting the moon is at its weakest relative to being positioned in-between the Earth and the Sun. This is due to the gravitational force from Earth decreasing faster than the increasing gravitational force from the sun as the moon moves closer to the sun, potentially having a holding effect if the moon is placed into that exact location due to the Earth and Sun having opposite orbital rotations.  However to maximize the amount of sunlight blocked by the moon, the ideal location to place the moon may be closer to Earth than where the location with the least gravitational force is located.
	The benefits of accomplishing this task will be monumental to the extent it can perpetuate world wars for gaining control of the moon.  The people that gain control of the moon will have control of what parts of Earth receive sunlight, and this can also be used to eliminate hurricanes and typhoons by keeping the tropical oceans under the center point of the eclipse every day.  If a comet or meteor is discovered to be heading for Earth, depending on circumstances the moon can be moved to take the impact; since it is capable of taking a beating, unlike a sun shield.  Considering a solar eclipse causes a higher tide than a full moon from the combined gravitational 
force of the moon and sun, the tides will probably be the same as a night with a full moon because the moon will be closer to the sun while holding a solar eclipse.  Additional enhancements could include building light barriers to extend north and south of the moon.  If there is failure in accomplishing this great task, the human race will make an unlikely attempt to survive by building underground cities until the planet fixes itself over a duration of potentially millions of years, or the human race will become extinct.
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